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10.9 Surface Area ]

The surface area of a three-
dimensional figure is the sum of the
areas of its surfaces.

To help you see

all the surfaces of a three-dimensional
figure, you can use a net.
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A net is the 6 sides o
pattern made when the surface of a siaes 5 sides 5 sides
three-dimensional figure is layed out
flat showing each face of the figure.
May 27-3:17 PM May 31-9:15 AM

Method 2: Use a three-dimensional drawing.
Method 1: Use a net. A [2in
S5in. |2] 5in. |2 y ide
in. n,
EAP _ Tam| | font
y4 / . 12in. 5am
12in. 8 lc| o |e Front: 9x7 =63 —— 63x2=126
F|2in Top: 9x5=45 —— 45x2 =90
Side: 7x5=35 —— 35x2=70
L A:A=5x2=10 S 1
B:A=12x5=60 ) E n S =126 + 90 + 70 = 286 Add the areas of each face.
CA=12x2=24 i
D:A=12x5=60 s el o e The surface area is 286 cm?2.
E:A=12x2=24 Fjein
F:A=5x2=10
Add the areas of each face.
S=10 + 60 + 24 £6Q+ 24 + 10 = 188
The surface area i
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-
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3in———F 6in. 8 cm

11 in.

Front: //3 :33 X2 = (pé

Top: //(p :(p<o X2 = /32 Front — -
(03 :/& e 3(p Top: /O =060 ,,- ,ZO

a Side: 8'/0180x2= I(OO
Surface Area: Total of all areas=2 34 H' 3 2.
Surface Area: Total of all areas= zé @n

Side:
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8 ft
5 ft

71t 8 ft 7R 6 ft

6 ft

7t 6 ft
Base: _, : _7 = 4ﬂ Base: é : (0 = 340
sde |- 8;2:28“: I | 2 Side: é5—2=l5 = (L O

Jr—l-z 2

—— Surface Area: Total of all areas=

Surface Area: Total of all areas=
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Find the surface area of the cylinder formed
by the net to the nearest tenth. Use 3.14 for =
3cm cm 6 ft
Tam 8.3 ft C =’[To‘
. = 6 ft .
Base: 4_ ' g =2 :4 x2= IZ s=2m +Qo 3 14 edne rormue
Side: AL ) 8”"‘ 32 X3= 0} é Rectangle: 3 '4 ) IZ ° 83 =3(2.744

Surface Area: Total of all areas= }O&(ZZ 22 Circle: 3 l4 ) Sé =//304>< 2 =22¢ : 08

Surface Area: Total of all areas=53 g—

A=~ 2
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Lesson Quiz
Find the surface area of the cylinder formed Find the surface area of each figure to the
by the net to the nearest tenth. Use 3.14 for = nearest tenth.

o C ='ITJ 1. Zh 2.

) I4 - ’g aftf it |aft] 12ft C O}ﬂ
9 ft 8 ft
S =2a? + 2mh Use the formula.
Rectangle: 3 ,4 ’82'20 4= I’I?DO 4 i 6t
Circle: 3* 14 : q =2543x2 =508 é’ 8 3. A drum is cylindrical, and its 14 in. width fits

) _l é into a drum stand. What percent of the total
Surface Area: Total of all areas= . -
2 surface area of the drum is covered by the 3

20 f

in. red stripe? Use 3.14 for n.
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